HALL-B pp-SRC analysis



» |ssues raised last week

= Leading proton identification in (e,e'p) events
= Leading proton identification in (e,e'pp) events
= Use E2m for (e,e'pp) events

= XBcutl.lvs. 1.2?



Leading proton identification in (e,e'p)

events
= Old Method: Cut on absolute momentum size, |P|

= Shalev suggested: Cut on |P|/|q]
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Leading proton identification in (e,e'p)
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Leading proton identification in (e,e'p)

events

“F = New leading proton cut
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Missing Mass Cut for (e,e'p) events
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Leading proton identification in (e,e’pp)

events
Cutting on leading proton, Looking at recoil proton

_E jzz— lPIeading|=|Pre::oiI|
o™ 16f No (e,e'pp) events in which
14 both protons pass the leading
3 proton cut
1.0
0.8 60
0.6:— E
= 50
0.4 -
0.22— 40:_
085 62 04 05 08 10 12 14 16 I| gia' | 'zl.u W
recoil [
205—
10[- H
0502 04 06 08 10 12 14 16 18 20

P ingd P ecoil

leading recoil



Leading proton identification in (e,e’pp)

events
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Leading proton identification in (e,e’pp)

events
Cutting on leading proton, Looking at recoil proton

- No events in which both proton
100 pass the leading proton cut
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Missing Mass Cut for (e,e'pp) events
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Missing Energy for (e,e'pp) events
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CM distribution

c =145 +/- 12 MeV/c
34% BG

Pcm_x

Pcm_y c=153 +/- 12 MeVic
28% BG
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Missing mass, “delta”, and X,
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Missing mass, “delta”, and X,
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Missing mass, “delta”, and X,
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